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Drm‘\\ina Reaming is primarily used for achieving
\ (a) Higher MRR
Y by Tmproved dimensional tolerance

&wmg (c) Fine surface finish
\“/ (d) Improved positional tolerance.

Ream%wa e EVCV’ no Q_F _Pv‘e
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Given Data 5—> A milling cutter having 10 tecth is rotating at 100 rpm. The
X2z =10 tablc. feed is set at 50 mm per minute, The feed per tooth in
_ mm is
A= N =100 wPm @) 5 b) 05
Xfn= Gommfmg ()02 G005

gollhlib*] i—? X 7[:1,-:: 7QX'Z)(N X ‘F.(— = _ ao _— D 0T
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G'Wev\ data &—> The time taken to drill a hole through a 25 mm thick plate
X & =25 mm with the drill rotz}tmg at 300 rpm and movmg at a feed rate
of 0.25 mm/rev 1s g
X N = Se0tpm (a) 10 sec {7720 sec h gj(%/
X )C = 025 m""/rev (c) 60 sec (d) 100 sec ¥ X = 7‘10::(
y N
X -l:w, ? i m X=0<p TH

Le<—v X ‘L»‘ = ¥t XX»OED-s&H
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Group 1
P: Dressing
Q: Loading
R: Glazing
S: Trueing
Group I
1. Blunting of grinding wheels
2. Shaping of grinding wheels
3. Sharpening of grinding wheels
4. Clogging of grinding wheels
P Q R S P
3
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The rake angle in drill
\/(a)/lncreases from center to periphery

(b) Decreases from center to periphery
(c) Remains constant
(d) Is irrelevant to the drilling operation.

>

/

Fute < chip fioo=> Reke face
G \

an'%@ i ak cothie-b W af-foy ey el

\'I/

@)Mq,(-—— Helix flngle
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| ead &vewo A lead screw with half nuts in a lathe, free to rotate in both
N/ directions has
Thiead C“H"‘? (@) V-threads (b) With-worth threads
J) (c) Buttress threads _dyAcme threads
20 Kq{(g, Ama'e,
\
Ma '«F Nt )R SPAli-Nut- et
Lead Scvew wirth cay age
4
AcME Trieod 0 Lead Gevees
V)

S5 Tne lvde Angle
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Grinding ratio is defined as

(a)

(©)
(9)

Volume of wheel wear

e

Volume of work material removed

\‘(U)/Volume of work material remmoved
Volume of wheel wear

Cutting speed

- feed
longitudinal feed
transverse feed
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Which of the following is not a characteristic of

the climb milling (down milling) operation ?

(a) The work piece is fed in the opposite
direction.

(b) Forces are less.

\(crHigh rigidity of the machine tool is required.

(d) Chip thickness is maximum at the end of

the cut.
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In a milling machine two side milling cutters are
mounted with a desired distance between them
s that both sides of the work piece can be milled
simultaneously. What is this set-up called ?

(a) Gang milling \on/ Straddle milling
(c) String milling (d) Side milling
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The ratio of time of return stroke to time of forward
stroke of a shaping machine is 0.6. the stroke is
250 mm and it makes 30 double strokes per
minute. What is the overall average speed of
operation?

(a) 3.75 m/min. (b) 5.0 m/min.

(c) 7.5 m/min. (d) 12 m/min.
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Which one of the following is not a feature of
gear hobbing process ?

(@) High rate of production
(b) Generation of helical gears
)

(¢) Very accurate tooth profile
(d) Generation of internal gears
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Q'Ne“ Wa®_ A milling cutter of 70 mm diameter with 12 teeth
IS operating at a cutting speed of 22 m/min and

XD = Fomm a feed of 0.05 mm/tooth. The feed per minute is
2 = 1 (a) 110 mm/min (b) 35 mm/mi
X V= 83m/mi (c) 6mm/min  (dy"60 mm/min
X %:oog\mm/«m—}l’ &olutions— X V= ’V?&S'j) k '
_ VX6
X fn=/ = Joen P 2611
| ¥YN—= ¢ foo
X ~[I;:: O'OTX\%XIGD N mﬁsz_
_ . — XX
|
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Match List-| (Operation) with List-I| (Application)
and select the correct answer using the codes:

COwm>

—

List-|

Reaming
Boring

Counter boring
Counter sinking
List-I|

Used for enlarging the end of a hole to give
It a conical shape for a short distance

2. Used for enlarging only a limited portion of
the hole
3. Used for finishing a hole
4. Used for enlarging a hole
Codes:
A B C D
(@) 3 2 4 1
\j21/ 4 2 3
3 4 2 1
/O‘a'; 1 2 4 3
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In a shaping operation, the average cutting speed
is (Stroke length S, number of stroke per minute

N. Quick return ratio R)
(a) NSRH (b) NSR/?2
(c) NS(1+R) (d) NS(1+R)/2
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In a single pass drilling operation, a through hole of 15 mm
diameter is to be drilled in a steel plate of 50 mm thickness.
Drill spindle speed is 500 rpm, feed is 0.2 mm/rev and drill
point angle is 118°, Assuming 2mm clearance at approach
and exit, the total drill time (in seconds) is

(a) 35.1 (b) 32.4 (c) 31.2 (d) 30.1



USE CODE Y662 to Join ADDA247 Paid Classes and GET Max Discount

Consider the following statements in respect of
grinding wheel of specification, 51-A-36-L-7-
R-23, using the standard alphanumeric

codification:
1 Abrasive used in the wheel is aluminium oxide

2. The grain size of abrasive is medium
3. The wheel grade is medium hard

4. Ithas anopen structure

5. It has resinoid as bonding agent
Which of these statements are correct?
(@) 1,2and 3 (b) 1,3and 4

(c) 2,3and 5 (d) 1,4and 5
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A 400 mm long shaft has a 100mm tapered
step at the middle with 4° included angle. The
tailstock offset required to produce this taper
on a lathe would be

(@) 400 sin 4° (b) 400 sin 2°
(c) 100 sin 4° (d) 100 sin 2°
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Match List-1 with List-ll and select the correct
answer using the codes given below the lists:

Listd

A. Reaming B. Counter-boring

C. Counter-sinking D. Spot facing
List-l

1. Smoothing and squaring surface around
the hole for proper seating

2. Sizing and finishing the hole

3. Enlarging the end of the hole

4. Making a conical enlargement at the end
of the hole

Codes:

(@)

(b)

(c)
(d)

N WN WD
W N W N D
N .

_a&&_so
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, The sequence of markings “S 14 K 14 S"

e 40 Get Seat in Bavc - ngs “S on
AH“C\ 6p+ % —‘ -‘ a grinding wheel| represents respectively
T v !

(8) bond type, structure, grade, grain size and
Aptesve. Geain Grode Bhywhve Sovd abrassive type
S S S R

. V \ \Mrasive type, grain size, grade, structure
Aha  Nom Aty N Alpha and bond type
(¢) bond type, grade, structure, grain size and
5 14 K 14 | & abrasive type

(d) abrasive type, structure, grade, grain and
bond type
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Which one of the following sets of tools or

:ools an.d processes are normally employed
Oor making large diameter holes?

(a) )éoring tool
(b)

TA .to.ol (Boring and Trepanning
Association) and gun drill

(c) /\éun drill and boring toll

\/wrﬁoring tool anc trepanning ’
ogedet

Without il h‘%



USE CODE Y662 to Join ADDA247 Paid Classes and GET Max Discount  [JANa [8 [= (ke I}/

Which one of the following processes of gear
manufacture results in best accuracy of the
involute gear tooth profile?

(a)x Milling

(b) Hobbing

(c) Rotary gear shaper
\_{d) Rack type gear shaper
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G](M"ﬁ whee| Which is not related term of grinding

&) Truing M sing
quazmg \/(‘f’/B”fﬁ”Q \Wﬁing
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X MQ\ Sp. @nevy
A Oevateat Hig

Z \/QIO(IJ/

Specific cutting energy is more in grinding
process compared to turning because

grinding (cutting) speed is higher

(b) the wheel has multiple cutting edges
(grains)

(c) ploughing force is significant due to small
chip size

¥ grinding wheel undergoes continuous wear
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Griver da §—
A side and face cutter 125mm diameter has
X D= 125 mwn .
10 teeth. It operates at a cutting speed of
X Z =10 14m/min with a table traverse 100mm/min.
X V="19"/mm The feed per tooth of the cutter S
X {w, = oo "’M/m}q (@) 10 mm (b) 2.86 mm
0.286 mm - (d) 0.8 mm

o_s . ( X V= FD(SUD m/m;,?
X fm:ﬁxzm )Cf:' ZXN ¥N= W"r&)g) = J;’r'){l{gwg
9

Sl
¥ ]Q(_,w@” =Tz %y n < 3 4P
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briven Axfat—>
¥ D= 2)mw=—ITnil Jia
X += loomm
X v= Slom/m;.’
%«F'-: 03 mﬂ)/iél/
X 0= 4 mn)
X h=3mm

Addal247

A 31.8mm H.S.S. drill is used to drill a hole in
2 cast iron block 100mm thick at a cutting
speed 20 m/min and feed 0.3 mm/rev. If the

overtravel of drill is 4mm and approach 9mm,
the time required to drill the hole is

(@) 1 min 40 s
(c) 1 min 49 s

(b) 1 min 44 s

\/(d’)/1 min 53 s



X 6o
X4 " :4_,‘9' LXA0X|00_

X J(,,) = |13 R gec = |mh§3%eq

X le= £ +A+o0
X le = IW+3+4 = n2mwm

X v= 138

A

X N-= V)(\mﬁ) _

A0 X160
XD ‘
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In a shaper machine, the mechanism for tool

5"\“? ey feed is

Y (@) Geneva mechanisﬁ<
LOW worth Buick Mot ion Hechowi<w  (b) Whitworth mechanism

v cottivg ofevadion \y)/ Ratchet and Pawl mechanism

\"/ (d) Ward-Leonard sys
f eed 0!1 qu, Jmiﬁ Ke{uw, g.fmI\Q

17 Ratchet-And fawl H@‘misy
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Mat

ch List-l (Cutting Tools) with List-Il

(Applications) and select the correct answer
using the codes given below the lists:

A.
B.
C.
D.

List-l

Trepanning tool
Side milling cutter
Hob cutter
Abrasive sticks

List-ll
For surface finishing by honing

For machining gears

For cutting keyways in shafts
For drilling large diameter holes.

NNwwm
GQNNQ
.;J;.sho
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